
V 

BILLIARD TABLE 
',' 

ITEM NO  7190000029 

weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß



PART LIST 

#1 #2 #3 

� @ � 

3/8"X3" bolt 3/8"X23mm washer 3/8" Barrel nut 
8 pieces 28 pieces 8 pieces 

#5 #6 #7 

� �\\\\\� � 

3/8"X1-3/4" bolt F4X2" screw 5/16"X5-1 /2" bolt 
16 pieces 16 pieces 2 pieces 

#9 #10 #11 

@ � @ 
.5/16"X23mm 

washer 3/8"X3" bolt 3/8" nut 
4 pieces 4 pieces 4 pieces 

#13 #14 #15 

p � @ 
5/16"X19mm 

T4X12mm screw 5/16"X1-1/8" bolt washer 
28 pieces 12 pieces 12 pieces 

#17 #18 #19 

� @ � 
5/16"X35mm 

5/16"X1-3/4" bolt washer Wrench 

18 pieces 18 pieces 1 piece 

#21 

A0

-

Basket(B) 
4 pieces 

2 

#4 

� 

T4X1-1/2" screw 
8 pieces 

#8 

@ 
5/16" nut 
4 pieces 

#12 

�SSSSSS>

#12X2-1/2" screw 
12 pieces 

#16 

CO 
5/16"X19mm 

washer 
12 pieces 

#20 

ooo 
0000 0 

ooo 

Basket(A) 
2 pieces 

STEP 1: 

STEP 2: 

,,
3 

' 
1 
' 
1 

, __..----.o....._,___ 

B 

G 

3 

weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß

weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß



PART LIST 
STEP 3: 

B C D 

� � 
� 

J 

1 piece 1 piece 2 pieces 1 piece 

F G H 

� 
� 

Leg Bun foot Beam A 
1 piece 4 pieces 4 pieces 2 pieces 

F 
J K L 

� � 

Beam B Beam C Side rail A Side rail B 
STEP 4: 1 piece 2 pieces 2 pieces 2 pieces 

N 0 

� 
� -

End rail Drawer Slate 
2 pieces 1 piece 1 set 

0 

F 

4 1 

weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß

weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß



STEP 5: 

STEP 6: 

1 
1 
1 

� 

18 / A
/ 

17 

5 

1 
1 

1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 

1 
1 
1 
1 
1 
1 
1 
1 
1 

____ J 

K 

-END-

weichselberger
AuS Printmedien Aufkleber DW 65 Hintergrund weiß




